Name:_______________________

Date:____________ Period:______


What’s Wrong With This Picture?
Draw the Lewis dot symbols for the following elements:
Hydrogen, H                           Boron, B                            Carbon, C                            Nitrogen, N

Oxygen, O                            Fluorine, F                            Helium, He                            Neon, Ne

Describe what is wrong with each of the following Lewis dot structures.  Then, draw the correct structure.
	1.      ..      ..     ..
       : H  : O  : H :

          ··             ··
	
	2.
 H
               ·
        H · C · H

               ·

              H
	
	3.
        H  : N  : H

                ··


	4.        ..

    H : C : H

           ··
	
	5.

      H : C : : C : H
	
	6.       ..

       : Ne : H

           ··

	7.       H       H

           ··        ··


          C  : : C  : O : H
           ··        ··
          H       H
	
	8.         H          H
              ··            ··
      H : C : O : C : H
              ··            ··
            H          H
	
	9.     ..     ..    ..
      : F  : F  : F :
         ··    ··     ··


What’s Wrong With This Picture? Answers
Draw the Lewis dot structures for the following elements:

Hydrogen, H                           Boron, B                            Carbon, C                            Nitrogen, N

Oxygen, O                            Fluorine, F                            Helium, He                            Neon, Ne

Describe what is wrong with each of the following Lewis dot structures:

1.      ..      ..     ..


2.
H



3.


       : H  : O  : H :                                                  ·                                                        H  : N  : H

          ··             ··                                             H · C · H                                                          ··

                                                                               ·  

                                                                              H

Lone pairs on H



No paired e-


No lone pair on N
Oxygen not an octet







N has three bonds
4.        .. 



5. 




6.       ..
    H : C : H                                              H : C : : C : H                                    : Ne : H
           ··








           ··

Lone pairs on C


Not enough bonds on C                               Ne doesn’t bond

Note: Can’t move electrons

around

i.e. No!         ..
              H : C : H
7.       H       H



8.         H          H


9.     ..     ..    ..

           ··        ··                                                       ··             ··                                         : F  : F  : F :
          C  : : C  : O : H                              H : C : O : C : H                                  ··    ··     ··
           ··        ··                                                        ··            ··
          H       H                                                  H         H

Too many bonds on C


No lone pairs on O


Too many bonds on F
Note!  #4 changed from      ..    ..

      : F : B

         ··




